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INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of

()

@)

fairness, inform the Hall Supervisor immediately.
This question paper contains THREE SECTIONS.

Uifle; —1 / SECTION -1
(gL Cuersser : 15) / (MARKS : 15)
iy (1) Suiflefed 2 eten 15 efemassEb&GLD efenLielssa|LD,

(i) SlewLiys GHlulenet asMESHSLILLBeTen B Lmbn efenLsefled L&y
siflwner efemLemwlsd CoTHOSESHS! 6TLLSELD,

Note: (i) Answer all the 15 questions.
(ii) Choose the correct answer from the four alternatives given in the brackets.
15x1=15

Bwpems Gsiey Camumenl GleuefudLeurr

(grieved  LmireXeor, anflu}Gasr-e-aurle, Sflsr GmnsedT  GILDEDOTLED, S6dT  UMIemL6D
GDITLDMITE )

Theory of natural selection was proposed by

(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptise Lamarck)
UDkEs GLPHmSHE WPpeHedlsd asn@GssULGL Crmis SIS

@@mi euyll GumedlGwrn, D.P.T., D.P.T. bpmib GumedlGuim, BCG)

The first vaccine injected into a just born baby is

(Oral polio, D.P.T., D.P.T. and oral polio, BCG)
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LsGLD Sneuprkisefieor LTedleOTl GLIHES PemDUied HEMLOLMID PpSHed BaLpey

(BOHOYNIHD, (PEOETSHSHE. LSOUTBLD 2 (HeunsHeD, LaNhes Gasens)

In sexual reproduction of flowering plants the first event involved in this is

(fertilization, germination, regeneration, polination)

STEUTRIGEMNED mFe0SHSH60T Li6vof

(Bewps BLESHIHED, 2 evuTemENs SHLHHSHED, OIOGE SSDSmS SLSSIHHD,  ShodlEement
BLEBIBHED)

The xylem in the plants are responsible for

(transport of water, transport of food, transport of amino acids, transport of oxygen)

L&emLDWIS eumy, Qeuliufened MOOLD WHNID Ledl Qeulibngened ghUBSSISnsl.
(emamLpegedr, Sp&EHR6E0T.  EMHLIRZET,  HMITLIOTEWL. WIMEHemE®)
green house gas which causes climate change and global warming.
(hydrogen, oxygen, nitrogen, carbon di oxide)
QM sempsadledr FleeTmer LSIHevorGeoonsd  eufiGW LGB  esfleusenied  SidsenIFEd
eTeoTLILI(BLD,
(2_cotTemIDS HEDIEED,  FnlDLDEEHEDISE,  CSMMEIHED,  [HiT)

The particles in various forms are visible only under ultramicroscope. A solution containing such
particles is called

(True solution, collaidal solution, suspension, water)

pH = —log,(H).@® sy evanr e Slwemiuler asdey 0.001m el Siger wdiy

(1, 3, 11, 14)

pH = — log,o(H"). The pH of a solution containing hydrogen ion, concentration of 0.001m
solution is

(1, 3, 11, 14)

BRIBLD 6Tedin  Hevfioonenig Garmowns SemLliLg Seemed, &g &MOM Slededd [HpLeor
eflemevtfleug Sedemed, & Bemeouded 2 _eeng),

(Beoliss Bemed, Gsribs [Hewed, &HeOHS [Hewed, UMl [HeweD)

Gold does not occur in the combined form. It does not react with air (or) water. It is in
(native state, combined state, mixed state, gaseous state)

8pevorLnD e5n&GS SeofLomiseT 2 (BB mIG6T 6TevTLILIBLD.

(enp, &ngoevor, SemLBemed, 2 6T SewL)

Second group elements are called

(alkali, alkaline earth metals, transition elements, minor transition elements)
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(11)

(12)

(13)

(14)

(15)

SleoenmedT GHOBLOLSPED 2 6en (PpHed GargHeor IUPAC ewwir

(me8eor, mHemHEoT, FHGHET, SN 6dledr)
IUPAC name of first member of alkyne is

(ethene, ethyne, ethane, acetylene)

yediuginied 50 &.8. Bewmujeren LDevfigevfledrT 6TemL
(50N, 35N, 380N, 490N))

The weight of 50 kg person at the surface of earth is

(50N, 35N, 380N, 490N))

20gb eotHemLuleten &Tufd 0.24 WeotGeormiLid 2 (heunsss CHemeulilBLD LOl6ITeT(LDES

Gaumiun®

(100V, 47, 0.01V, 40V)

The potential difference required to pass a current 0.24 in a wire of resistance 20 ohm is

(100V, 4V, 0.01V, 40V1)

uleordmevfleor SI Sleo

(egfe0, QeumedL, eunm’, SaqLb)

The SI units of electric power is

(Joule, volt, watt, coulomb)

2 Geonss HLHHUND UMD LEleOTGeOTTLLLD Slgements &hm

(@euud, e, &MHSLILEOLD, epSTeilens)

2 2 _(HeUn&GLD.

An electric current through a metalic conductor produces around it.

(heat, light, magnetic field, mechanical force)

aDLIL6T 6BTene0Cmnasuled 2 6Tem Shlp

(s10gem Splp. Hemeuemem Ship. &6l Shlp. G Sble)

The Hubble space telescope design with two is known for good imaging performance

over a wide field of view.

(plane mirrors, hyperbolic mirrors, concave mirrors, convex mirrors)
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9fley — 11 / SECTION - 11
(gl Glueraser : 40) / (MARKS : 40)
GOl : gCaemid QLG eNenssEnsd efenLafssan)b
Note :  Answer any twenty questions. 20x2=40
GBMUSEDETLLD OG0T &MIeUolGemenLD UNIESSIS :
©) BsGLMGeomAwm - &8s &8ss Swpuy

(@) ewurefdwen Sieofislwim

risefled Sresd &5
®) ssie —  LDMEM6D&SE00T
@ &psmb 2 enpwiTenLD - 85y dallugy Hewse)

Match the following : Diseases with simptoms

(a) Nyctalopia — Profuse loss of blood
(b) Pernicious anemia —  Bleeding gums

(¢) Scurvy - Night blindness

(d) Haemorrhage - Destruction of RBC

&Gy wrdflwnenr SprenLwiiser, GGIMGLIGsMD SemUlQILD Q&SenabHeeuTesT. SHGLD
SO L eneuseneT SSHS GUMTHEMS 6&ME00TH (PLPEWLDLILGSSI.
(1) &CGr wndlwnerr SpLemLiiiger
(Bwpenswiner SpLenLuwiiser, oos@GelbsliLrL SrLenLwImaEeT)
(i) &Cp nBflwnerr SyLemLImseT .

(GCaumiun@senLer snevorlL@eut, 66T nSiiner SiemLDlenL 2 _6mLUIGNTEET)
Identical twins are syngenic with similar chromosomal contents. Natural clones are those who
possess identical chromosomes. Fill up with suitable word given in brackets.

(1) Identical twins are (natural clone, induced clones)
(i1) Identical twins are (dissimilar to each other, similar to each other)

QENGHEsLUILLGBeTm  Devfls  cLpemeruiled LfledTeU(HLD
QFWeHemeT SLELLUGSHIID LGDHemeT ‘S DHMID ‘&
610N SMEE.

(©) mHBTHH 2 _6TuTHLD LGS

(&) uniremeu 2_60OTEHLD LGS

Human brain and the functions of different parts are given above. Mark the diagram (a) and (b)
(a) seat ofsmell (b) seat of vision
BLDBHEUUIL. SndMIS6T SHeUnTs SELNer FHwner smhrlener erLpsIs.
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e2))

(22)

(23)

24

(&) &peoun  eFedseT  Benaedement 2 pusH  eFLBedIDET  WOHMID GULT  eFedaEel
GEhECHETETEmT 2 DUSHE Q5B D6T

(&) smmeGsnenr Cumil eS| HETENLDEMWI GDMHEDSI

@ emssv &pUT Qb BerorbT OBTES

) SlIILBLD (PLEMLGEMEMULD 60T CONMgemetT|ld 2 _HusE OFLIBDS
Correct the statement if they are wrong.

(a) Alpha cells produce insulin and beta cells produce glucogon

(b) Cortisone supress the immune reponse

(c) Thymus gland is a lymphoid mass

(d) Ovary produces eggs and androgen

agnLmiledr SlplinenLuied GCsmprlL SLHens Brlils:
G IMa6roleoT Sh@EBemLDd QMG
SiL-rfleoredledT .

Based on relationship fill in the blanks :

Thyroxine personality harmone.

Adrenalin
QBMBHESLILLBETEN LILSH6MS 6UeIHE LITEMRISEWST GDl&HHeLD.

Draw the diagram and label the parts.

Anbys HEOTIGLPED LIGHUTEd 2 6T6l cLpedim| (PSB! LINGRIGEDENS Fn)l.

Write the three important parts of uriniferons tubules.

QBMBHSLILLIHSGSLD LLSDS SH6UNSHS.
(1) uub ‘&  POHWHD S-S  HMEOTLILEGLD : 9:
B MIHN6TE L9Gs.
SHLIG A/l&n  B/&

(2) eeeunm  BwssmBET  QSLILTD  Hamims
BemevseriledT BwssmIseMedmHEI
GeumiuGBeTmenT?

Observe the diagram
(a) Mention the type of movements shown in Fig A and B.
(b) How does the movement differ from the movement of mimosa.

@mnmiembuierr SlgliLenLuied &evormls:
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(25)

(26)

27

(28)

(29)

BUOMRIBEOLD : LEDeDT HHBSHET.  6l6u6TEUTED

Based on relationship fill up :

Whale : Baleen plates. Bat :

WTeHs esFs:

sWley Bes 2 miiy

(1) Apubosid -
(2) mewpuliyed -
Fill in the blanks :
Excretory organ -
(1) Kidneys -
(2) Lungs -

6U6IfLD6DOTL 60LD
CO,

QeuefiGIOmILD sLPl6)

Excretory products

()]
3

(&)
®

femggss _wmonst prapriact

2
Yems Lig

STEUTTRIGET
Atmosphere
CO,

3 (a)
DecoWn plants (b)

\ 2 (C)
Fossil

plants

“BpLbLLl

auDME euemD  eTeiTUG  QIF SWDens  GU6NLD.

spleYll aUTIBL&6T

- Sent out as

1 wpmib 3ed &mevoTLIL@BLD BHLpFS EHemen
ET(LDEIS.

BsLbey lee euempwimy).

gGaemILd @b LpLb erfleiun pemern
SOILIES.

Name the process noted as No.1 and 3.
Define the process.

Name anyone fossil fuel

8semett  Devlls  HIBTENE0T

Coussemzail Geusons Suwihens BHLpelermed LDMHDEOTLD” .

GLM&ETOTL.  FnDemD LIRSS, SHEUDTETST Slebedgl FILNEITSHT 6TTLens 2 _MIHEFIL. HeUDNEH

8mbsned sfner sabiflensors snmi.

A non renewable resource is a natural resource. If it is replaced by natural process at a rate
comparable or faster than its rate of consumption by humans.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give correct

statement.

Spmed GLpeomevoremibemw! efieurfl.

Describe : Energy conservation.

GursGeauIsHgl eUTEETRIGEMED LIWLITLBSSEID 6rMeLImbeTasaT Wimemed?

What are the bio fuels for transportation?
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(30)

(€2))

(32)

(33)

(34

(35)

25°C  eauluBemeoulled  OFHeflligul  HDIFQHESLD. OFHEALLNS  HDIFQSHSLD 266
Caunun@aenet &b QENEHSLILLB6TEN GMILILEET cLPedLD 6TLDSIS.

(&) 16g NaCl 1008 Briled (&) 36g NaCl 1008 Briled

GMuy: NaCl -er sempdmedr 368)

Distinguish between the saturated and unsaturated solution using the data given below at a
temperature of 25°C. (..... NaCl is 36g)

(A) 16g NaCl in 100g water (B) 36g NaCl in 100g water

208 gemwwed 2 Lewu 508 Bifled seoIsBmHHSTH Slbsenysed OFmlefer so6ls Beomenwis
BH600TSHH (B .

Find the concentration of solution in terms of weight percent if 20 gram of common salt is
dissolved in 50 gram of water.

Bolys:

OlgIHS1 (B eTevor 1.5,
(1) @remi epessmm -
(2) Fpeml cLpELSHIRM) -
(3) epougl cLpevsEn D) -
(4) uedTD SlED) eLPEDHERM)
Fill in:

Atomicity E.g.

(1) Monoatomic  —
(2) Diatomic -

(3) Triatomic -

(4) Polyatomic -

8y Spevoflemis sMOT sOGLL Hemeosadlenyer emeusGLEUTE, HMST sOGUL gedr BmLD
LMMIBDEI? 2 .1b. uPIGESTET eNeTHHESHmS SITEYLD.
Why does the colour of copper sulphate change when an iron nail is kept in it? Justify your
answer.
I HOIFOlNT emaDLINHemEd Slweroiulenr egfley 1.0 x 10°m  ereofieb, @emyaedledr pH
LBLemL &600TBLILRESHELD.
The hydroxide ion concentration of a solution is 1.0 x 10~°m. What is the pH of the solution?
(I) embp 2 Geomsld LNESIEHHILENT CHIHSTALD SHDEG SUFHHe06mer 6T6dTr)| CLIWIT
uDGLPlEemen SlemLLLSDE LWeTUBLD Spssseoenel
©) Ag-Sn 8pssseoemn6l ©) Cu-Sn 8ussseemel
(1) Vssemenuisd 2 _etem 2 GeomEmIHeT
(Zn, Cu/Cu, Fe/Fe, Al/ Al Cu)

() Any metal mixed with mercury is called amalgam. The amalgam used for dental filling is

(a) Ag—Sn amalgam (b) Cu-Sn amalgam
(IT) Metals present in brass are

(Zn, Cu/Cu, Fe/Fe, Al/ Al Cu)
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(36) &L HClL &ur H,S0, 21et1  efeweoryfyld &by S ANO;  Slbleosgieor

(37

(3%)

(39

(40) 8uuLsBemetT EUMIHS SlFHEOT LGDHEWeT GSHILILNGES.

(41)

(42)

eflemevtfleudedemen. er6dT?
Iron reacts with cone HCI and Conc.H,S80, acids. But, it does not react with Conc. HNO;. Why?
eneurLD SMTUEDemLW LmEaDMemD 6URENRIGED QETDNGLD. SIHE0T  HLR60THSHE0TENLDESTE0T
SMTCOTHNSHS Fnl)|S.
Diamond is the hardest allotrope of carbon. Give reason for its hardness.
Beom, eTemL Semer &eNMIe(BHS LLHADTETN) 6raileumm] CeumiLBGEeTDEI?
Differentiate mass and weight.
(A) e gsliu®sSg : Speu emmLIRET LD Gefifl LweTUTEseled (LpSHSUILDTEOTSNELD.
R) &myevord : &g Bn@seflenLGw erefifed LN SuwisyeusHedemeD.

8ged> siflunenr eurflems ergI?

(i) (A) wbomwp (R) SyevorBLd &l

(i)  (A) geumi (R) &

(i) (A) wipd (R) ByeGd Heum)

i) (A)ef (R) goupy
(A) Assertion : Liquid nitrogen is the most commonly used element in cryogenics.
(R) Reason : It is not legally purchaseable around the world.

Write

(i) Both (A) and (R) are correct

(i) (A)is wrong but (R) is correct

(iii)) Both (A) and (R) are wrong

@iv) (A) is correct but (R) is wrong

Draw this diagram and label the parts.

GeurmedLm LOedTHEOLD /

Volta Cell

DL ShDMed cLpedrRIGeiedr eLwiTaeT SGD SILILIL(B6TeNer. Sheotmed SeupmisT &ed sHeumi.
SeUDNeoTEUDHemD LIL U 160B.
@nHm SO, i SpHmed,  BISler SHDDED, SlEBHB SO,  Slewed  SHHED,
Gupemed SHOMED, el - Slevted ShDMeED)
In the list of non conventional sources of energy given below, some of them are wrong. List out
the wrong ones.
(wind energy, solar energy, hydro electric power, nuclear energy, tidal energy, wave energy,
geo thermal energy)
1.5V Wereolwsd efens eanso. & LWletsevenraeT Seb, 10gb, 15D  letT&HemL &6l
wHhnib &mell Seuhewns OSHMLINGS QHTEOOTL (b Lledr &DNIL LLSHBHeIT 6UDTS.
Draw the schematic diagram of an electric circuit consisting of a battery of two cells of 1.5V each,
three resistance of Sohm, 100hm and 150hm respectively and a plug key, all connected in series.
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(43) oGeaeeendled 6GUMHeMedT [HeweemWW|D - euNdHewens  &bHE  LbusHeoT  Slememeul|Ld

QUNBSSIS,
ewungpefiedr [Beweo
©) 2Fs@ Siluned
(&) 2F-ed
®) F-&@b 2F-6@b SemLuied
™ elww F-ed

HibusBHer Slerey
wpedleon Siemey Quflwig
frlwg

eungperfietr Siemey
euflwig)

Match the following in the case of a convex lens

Position of the object
(a) Beyond 2F -
(b) At2F -
(c) Between F and 2F -
(d) At focus F -

(44) e o©Weeadlar GelusSTILD
9 _600TLITE, GILIMIHET 06OTHed(BHEI 6releusne) QGmeneoeied emeussLilL. GeusvorBLD?

Relative size of the image

infinitive large
diminished
same size
enlarged

1508..5. eeerdedlmng 1008.15. 6gnemeedsd LbLLD

A concave lens has focal length of 15cm. At what distance should the object from the lens be

placed, so that it forms an image 10cm from the lens?

(45) GomerL SLmisemer BILLs:

(&) GunuLn: Bemeossnbed, eumesoliu fhuleomeor GLOMLLMT
(&) @ Qrdlet Gells 6Bmemeey: LOLLT. SiGer Smedr

Fill in the blanks:

(a) For a motor: a permanent magnet, then commercial motor

(b) Focal length of a lens: meter, then for power of a lens
9fley — 111 / SECTION — 111
(gl Glueraser : 20) / (MARKS : 20)
eniy (1) Qealeand ueSuUiEBSILD ® i 6ish Brarg eIOmssEnsE

eflemL wieflé&Ee)|Lb,

(i) eeueleun s eNeTMEY&GLD @EG LDSLIGILIGvOT,
(ii1) Coemeuwimeor SLEisefed LLLD euemTs,

Note: (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.

(i) Draw diagram wherever necessary. 4x5=20

u@H — <& /| PART — A

(46) 2w esmpledmLuefwedled HievoTEODUNT CLHHSLD, LTLUTGSET G QsMBHSLILIL BeTemer.
Gnlbgl Heuetlisg eflemLwiafl&Ea|b. QeaIeUTETHINSNET LIWGTSHEneNs Jnf).

2 uiim eTdliy eMBL&6IT

SBLLSs6T

2 uin empledmiueiuied
Hl60oTETIUTT CILI(HEEHLD

A

emeuL-LLBl6dT
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47

(48)

(49)

(50)

List the recent advances made in bio-technical field through a chart.

Anti-Biotics

Organic acids

2 _miseT uGHuied Geoflwm ugedujereng.

©) 8Gsemers HLELLGSS 26T uGHuler 2 Ml SleuTEErEE S&HS SbEeonsener
GULDTRIGS.

(&) wCeorflwmedleor sflwmeor Crmi SiPiGrlasmer CaNHOSBSHSE! 6D
(&eafir, EEG&&D WHMID &G smiFse, GCus)

There is a widespread outbreak of malaria in your area.

(a)  Suggest some controlling measures to the local authorities concerned.

(b) Pick out the right symptom for malaria.

(chill and shiver and a rise in temperature, diarrhoea)
ussl — g / PART - B

U&GLD sneugmhisefied HemLOUMID Umedlleor eUpsHs Wpenpuisd FEUBLD Spevor® BoLpa|semen
TLDBIS.

©) oo BsLpe] WOHMID SleunmleT euenssenen el

(&) SlGefictl HEoTEHLD SEMLDEEN6T 6TLDSIS,

Write the two events involved in the sexual reproduction flowering plants.

(a) Discuss the first event and write the types.

(b) Give the advantages and disadvantages of that event.

o eiieniemLl LGSuNed B SLGULMLIEOTTEd LD&E&ET SleuSemLBoniser. ereor®ey, [Hir
BLELLMLID6TS H6XlTHS 6T6IT61E0TEITEN (LPEDMEBEMENE DSWIMTETENT?

In your area there is scarcity of water. Due to this the people are affected. So what are the
measures to be taken by you to meet out the scarcity of water?

uggdl - @ / PART - C
(&) SEMGEHEBHGSLD LPOGENIGELEGLD 2 6Tem CaumunBaemer SiLLeNenetoTlLGSHSIS.
&) 12.046 x 10” gpeoasnmisenets O&TeL SIS0 2 _6Tem GLOMEOEMETS HETHEBES,

(a) List out the differences between atoms and molecules.

(b)  Find the number of moles in copper containing 12.046 x 10** molecules.
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D

(52)

(33)

)
(&)
(a)
(b)

)

(&)

(a)
(b)

@)

(&)
@®)

(6]

(a)
(b)
(©
(d)

6T6L &GS 6T60TDTed 6T60T60T? SlFeor Geud eflemevTemil 6TLDSHIS.
THSE0TTE0l60T ST6voT(® LILIEITEHEM6T 6T(LDEIS.
Define esterification. Give its chemical reaction.
Write any two uses of ethanol.

u@gl — 7 | PART —D
BuplLeofleor  pged Swss el elemsuledr Uetoreml  ellensGEDE.  SssnbHemD
BumUULESS1s.
108.8., 208.8. Beomujeten oun@dLseT wWedmGWw 10ms ™', Sms™ Goussded 6FeOAIMSLI
uLlb sM@Gémg. Slemen GrBs esnetdsomerr. GnsedleT@UNgE Slewer QSML(BE
QaneTepd Grb 2 efleommpser. GMsaGEL 6T Slemey wedmGW  12ms', dms
Gouzsded QFOSITDEUT 6Tevfied, [, [L@aUDenDE HTeUoTE.

5m/s F 4

m/s
10m/s 1= 12m/s
_>

Newton’s first law of motion gives a qualitative definition of force. Justify.

5m/s 4m/s

The figure represents two bodies of masses 10kg and 20kg and moving with an initial
velocity of 10ms™ and Sms™ respectively. They are colliding with each other. After
collision they are moving with velocities 12ms™" and 4ms™' respectively. If the time of
collision be 2 sec, calculate F; and F,.
eueLLIMSHH60 2_eiterm LLSEWS
LOevoT(BLD EUEmTS.

Sl UGS

ULSHED (P&HBWILDTET  LITEBRISEDENE
SDH&HELD.

8&anH60TLD aBs  HHHeUSDET
SlglienLuied Q&WOLGEDEI?

Re-draw the above diagram.

This diagram represents

Label the parts of the diagram.

Write the principle of the device denoted in the diagram.
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